[ EXERCISE - 11 I MULTIPLE CHOICE QUESTIONS ]

1. (A) X" 5, Y"1 He' 1 Q, m, <(m,+m.,)
5. AB-r{PETduetoelectrostatic repulsion.
B A A 0
(B) X% ¥+ ,e7+Q, BC — nuclear force dominate & nuclear forces
(C) X* > YA+ e +Q are always attractive in nature.
z z+1 -1 3
6. *N+n—ILi+Hej +4n+2B
(D) zXA _>2YA+ZYO+Q4 ’ ’ 2
2. AC YN+n—Li+4p+4n
Initially 7. excess neutrons = o active and B~ active
A=m,+m, excess proton = B* active
mp 8 A A 0
A=m =1 X, Y+ BT +E
’ KE of B particle can not exceed E.
(B.E), _ (BE), oM™ g
A, A, ° m,+m,
A, is lesser initially then
A,T (BE){ N/2 ratio becomes > 71
3. C
m; =10xm, +(20-10)m, 9. AB,C
m; =10m, +10m, =10(m, +m,)
& 10. C,D
m3 = 20m, + (40— 20)m,
m12 - 20(m, +m,) 11. A.,C
Given
mj = 2m; L =0.173year) ™"
Mobserved < Mexpected
] _ 0.693 = | SAT|NITS
But observed relation m, <2m, %= 0173 N=Ne 0.173
— 2
4. Restmass = E=mc (A)N:&:N:O.63NO
State nucleus has to release energy. e
A = B+C
E, <E, +E..
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